st ZYyFO4A—)L(FE)

H=1500

=
SEZFs 1,145ke
Bl [ = | Eefn
498.5 1000 498.5
248.5 1500 248.5 o 2% 0
- [
R b [=] N
2 (=2
ﬁ +— S *
B&8/ o_
3
il D6-2
LO)|
N
S | U
(=] (=1 (=1 o N
S| ) S S S | |
L - = © © i PN
i ° m.;_/o k
o KikH, b=
(=21 N
LO)|
L o U
N
o p
= ¥ (= o )
9c
5 | sy MIRE 148.5 1700 148.5 \3® D|10—10 80 1120
1 590 500 14 590 500 1200
1200 1200
T @ IF & B (EhR) ERAA R0 (BREE)
Lo|
9 E: ® D10-6 @' D10-4 062 |—A_ @ 64 |—B_
o ¥ ¥
© = = lc—z -y # Szl o]
0| (=] [=]
3 7T o
= =
_|€> o g E===3 g g
Lo NNy
«© (=}
8 - (=] T t'-, J"‘, )
/ g S22
~| © (=] [=] = <t
S8 = ; 75 SEE # = S
o g =t g =2 ~
3 S S
© == =
* g | i B g
l& 2 TIT & [ I 3 L 3
| s SRS 2 .
398.5 1200 398.5 £ 5 D6-8 L@ D6-3
LO)|
" 1997 g = 300, [200] . 400 0| _300
2 == | 48,51 [1500100 76200=1400 0q150] [48.5
(=4
50 R.6x200x70 L o — D10-10
1200 2 Rzzon 2 L=30 150|200 | 250_| 300 | 250 || 50 s
g , ’ 1200
N =
S' I I\ : 1997
48.5] 15010 76200=1400 100150, |48 .5
LO|
! y @6 : @b10 | |
32 78 | 78 32 < N
220 2 XX XX \
p AN \ -
AT g [[Nmm oo \wos | [ 5, | Nae
498.5 _| 1000 | 498.5
HMEI I - IEE IstZVvFO+ 4 |3 E
h* — AN\ Y —}l/ F .
() feEa > m 1S Y x|z X X R




